Sabarmati Gas Ltd.	<u>CORRIGENDUM - 02</u> <u>TO</u> ARC for 2 Years carrying out Cased & Uncased Crossings through HDD Method at Various locations in Gandhinagar, Mehsana, Sabarkantha, Aravali and Patan Districts.	REPL/SGL/HDD/010A/22 SGL:TEND:09:2023-24
--------------------	--	---

This has reference to the subject tender. The corrigendum to the subject tender is hereby issued. All participating bidders are requested to note the changes in respect of the subject tender.

S No	Tender Clause No	Page No.	Tender Conditions	Addition
1	Clause 2 (VI) of IFB Bid Due Date & Time	05	23.05.23 till 14:00 HRS IST. Bids should be submitted on ITI procurement portal. <u>http://petroleum.euniwizarde.com</u>	30.05.23 till 14:00 HRS IST. Bids should be submitted on ITI procurement portal. http://petroleum.euniwizarde.com
2	Clause 2 (X) of IFB Technical Bid Opening Due date & Time	06	23.05.23 till 14:30 HRS IST. Bids should be submitted on ITI procurement portal. <u>http://petroleum.euniwizarde.com</u>	30.05.23 till 14:30 HRS IST. Bids should be submitted on ITI procurement portal. <u>http://petroleum.euniwizarde.com</u>
3	SOR		Revised SOR	SOR-rev-01 attached below as Annexure-A
4	Bidders Queries		Replies to Additional Bidders Queries	Additional Bidders Queries and their replies are attached as per Annexure-B

It is advised that the above may please be taken in consideration while submitting your offer. Please also note that this communication forms an integral part of the tender document and a duly acknowledged copy of the same is to be submitted along with technical bid.

All other terms and conditions of above referred tender remain un-altered.

Note: This Corrigendum shall form an integral part of the bidding document and shall be signed/stamped and submitted along with the bid.

(STAMP & SIGNATURE OF BIDDER)

Sabarmati Gas Ltd.

SCHEDULE OF RATES FOR OPEN TENDER FOR "ARC for 2 Years carrying out Cased & Uncased Crossings through HDD Method at

ANNEXURE-A

Various locations in Gandhinagar, Mehsana, Sabarkantha, Aravali and Patan Districts



Tender No. REPL/SGL/HDD/010A/23

Sr.no	Service code	Currency: INR Description	UOM	Estimated qty.	UNIT RATE	Total Inclusive Price
1	NIL	STEEL P/L LAY 4"NB WT 6.4MM ROCK BORNG L	Meter	380	17,230.67	65,47,654.0
2	102468	STEEL P/L LAY 4"NB WT 6.4MM M/C BORNG L	Meter	990	5,700.00	56,43,000.0
3	101617	LAY 125MM PE PIPE - NORMAL SURFLAY	Meter	1280	280.54	3,59,091.2
4	101618	LAY 90MM PE PIPE - NORMAL SURFLAY	Meter	1495	165.26	2,47,063.7
5	102162	SIT-12"NB CASING P/L BY M/C BORING L	Meter	605	10,620.00	64,25,100.0
6	103691	SIT-10"NB CASING PL BY M/C ROCK BORNG	Meter	300	10,568.00	31,70,400.0
7	102163	SIT-10"NB CASING P/L BY M/C BORING L	Meter	560	7,708.00	43,16,480.
8	102164	SIT-8"NB CASING P/L BY M/C BORING L	Meter	1065	6,100.00	64,96,500.
9	102216	SFI - PIPELINE WARNING SIGNS L	Number	96	9,500.00	9,12,000.
10	102219	SFI LINE MARKER L	Number	96	1,850.00	1,77,600.
11	102131	PCP DESIGN ENGINEERING - L	Number	1	29,339.00	29,339.
12	101930	TLP A -SUPPLY - L	Number	26	29,267.00	7,60,942.
13	101988	ZN ANODE 10 KG-SUPPLY L	Number	26	17,500.00	4,55,000.
14	NIL	PIPELINE LAYING USING HORIZONTAL DIRECTIONAL DRILLING TECHNIQUE IN NORMAL SOIL- For Pipe dia. 32 mm OD and 63 mm OD	Meter	525	775.00	4,06,875.0
15	NIL	PIPELINE LAYING USING HORIZONTAL DIRECTIONAL DRILLING TECHNIQUE IN NORMAL SOIL- For Pipe dia. 90 mm OD and 125 mm OD	Meter	525	890.00	4,67,250.0
16	NIL	PIPELINE LAYING USING HORIZONTAL DIRECTIONAL DRILLING TECHNIQUE IN HARD ROCK STRATA - For Pipe dia. 32 mm OD and 63 mm OD	Meter	75	2,700.00	2,02,500.0
17	NIL	PIPELINE LAYING USING HORIZONTAL DIRECTIONAL DRILLING TECHNIQUE IN HARD ROCK STRATA - For Pipe dia. 90 mm OD and 125 mm OD	Meter	150	2,900.00	4,35,000.0
18	NIL	Mobilization of HDD machine with all tool & trackle and man power for different location (One time Mobilization each for Gandhinagar, Mehasana/Patan and Sabarkantha/Himmatnagar/Aravalli dists)	Nos	3	35,000.00	1,05,000.
		TOTAL COST INCLUSIVE OF ALL TAXES AND DUTIES			5,700.00 280.54 165.26 10,620.00 10,568.00 7,708.00 6,100.00 9,500.00 1,850.00 29,339.00 29,267.00 17,500.00 775.00 890.00 2,700.00 35,000.00 35,000.00 a	3,71,56,795.
		Applicable GST Rate@18%				66,88,223.2
		Total Inclusive Price including GST				4,38,45,018.6
	quote the rates in pe	npetitive rates as per SOR base Rates, tender schedule of job, item rcentage (%age) above (+), below (-) or at par (0%) of our SOR Rat tly on overall PERCENTAGE (%) basis instead of item wise otherwi	es basis in the p	rice bid section	only. Please	%
L	UOM:]		
	EA - Each	M3 - cubic meter	M2 - sq.			
L	M - meter	KG - Kilogram		l		
 Note: - i. Vendor shall strictly mention Taxation Structure in offer with Percentage (%) otherwise will consider as all inclusive. ii. Rates quoted in the SOR shall valid for 2 years from date of PO. iii. SGL may issue PO for second year on the same quoted rates based on CPAR & Successful completion of work in 1 year. iv. The quantities shown in above table are indicative and subject to vary during contract period. 						

iv. The quantities shown in above table are indicative and subject to vary during contract period.v. In case of any discrepancy regarding the interpretation of the scope, the decision of SGL EIC shall be final and shall be binding on the OEM.

ANNEXURE-B

ADDITIONAL BIDDER QUERY AND REPLY / CLARIFICATION TO BIDDERS BY OWNER/CONSULTANT

Tender No.: SGL:TEND:09:2023-24

Date of Pre-bid Clarifications: 26.05.2023

Venue: Sabarmati Gas Ltd

Tender Description:

ARC for 2 Years carrying out Cased & Uncased Crossings through HDD Method at Various locations in Gandhinagar, Mehsana, Sabarkantha, Aravali and Patan Districts.

Sr.	Tender Clause No. / Annexure	Page No.	Clause Description	Bidders Queries	SGL/REPL Replies				
	Technical								
1	Serial No. 13 of SOR			On going through the SOR in the tender it has been observed that the rates of the following item seems to be wrongly mentioned/highly underquoted. Request you to please go through the same and do the needful correction.	Refer to SOR Rev-01 (Annexure-A)				
2	Serial No. 06 of SOR		SIT-10"NB CASING PL BY M/C ROCK BORNG	In SOR 10" NB Casing pipe in Rock Boring with supply of Casing pipe rate is not workable	Tender conditions prevails				
	Serial No. 11 of SOR		IDCD DESIGN ENCINEEDING I	IN SOR PCP Design item justified that where the item is going to be executed in which location over all the Contract	Please read it as "TCP design" instead of "PCP design". Shall be paid once during entire contract along with contract closer for designing all TCP as instructed by EIC.				